MAIIRCY

MARCY PRO
SMITH MACHINE

SM-7362

IMPORTANT: Please read the Important Safety Notice and Assembly Information in
the Owner’s manual before assembling this product.

Assembly Manual

220325




O©IMPEX INC.



2x2 @35 2x1 Bx1

©x2 (X2

O©IMPEX INC. 2WWw.marcypro.com



O©IMPEX INC. 3Www.marcypro.com



<z
68X 8 69X 4 ©@x1 8% 4
©9x 4
fodx 4
(09 2 (19X 2 f1)x 4
%2 S (9% 1 (191

O©IMPEX INC. 4WWWw.marcypro.com



@MM S émm QWWW%

O©IMPEX INC. 5Www.marcypro.com



3
Q0
o
X
o
—
-1
O

M10

6www.marcypro.com

O©IMPEX INC.



M10

20

7www.marcypro.com

O©IMPEX INC.



1»
8

Iy 16 M10X3

M10

16

N 9 8 8 /8 9 VD D OV S D

8www.marcypro.com

O©IMPEX INC.



2
enlico
(2]
X
o
—
]
<H
C.QC

©

® @
Ric0

)

X

o

=

<H

g 3
M10

8
4

01"

9www.marcypro.com

O©IMPEX INC.



10 MIOX3 Y’

M10

10

\%u

@

g ==t |
B Bed 3. 5 )
R ) ; v A

/

I\

W=t/ A

00000000

= o o o

e g s o e

10www.marcypro.com

O©IMPEX INC.



1 1www.marcypro.com

O©IMPEX INC.



4 MI0X2}
M10

62 6w 4 MIOX2 }”

/ A% \\
) ~7
aaaaaaaaaaaa . n..%
—7 )
A
AT

f.l < ‘P_‘ o/
==Y
¢ /N

12Www.marcypro.com

2
el
X
o
—
=
o

‘,w.mﬂ\\\ "9
Yz -

O©IMPEX INC.



2 M6X %"

Ll

3% 4# Allen Wrench(Tool)

13www.marcypro.com

O©IMPEX INC.



M16X1. 5

2

WY

/.
= /v e

/]
Ay
s =N

Q
/d
s

www.marcypro.com
14 yP

O©IMPEX INC.



m

4# Allen Wrench(Tool)

O©IMPEX INC. 1 5WwWw.marcypro.com



@) 6w 2 M10X1 §”
S 2 M10X2”
62 € mmm4 MIOX2 ;

”

49 6 Jmmm

6D 6 mmm

6 MIOX1 ¥
2 M10X2 3"

69 6 mmw 2 MIOX3 "

@ (O 22 @Y 6 O 9 0¥
am. 16 MIO —TT

O©IMPEX INC.

16www.marcypro.com




@ @ 4 T7# Clip hook

ooooooo \& e

iz
=N /

\.‘Q A=)
Ny
RA\AES, Ve

—5

www.marcypro.com
17 P

O©IMPEX INC.



18www.marcypro.com

O©IMPEX INC.



19www.marcypro.com

O©IMPEX INC.



M10

20www.marcypro.com

O©IMPEX INC.



M10

2 1www.marcypro.com

O©IMPEX INC.



EN
—iey
(2]
X
=]
—
=
©

6# Allen Wrench(Tool)

M10

22www.marcypro.com

O©IMPEX INC.



1 Mi2X 6%

917
M12

® @ ©

23www.marcypro.com

O©IMPEX INC.



6% Allen Wrench(Tool)

© [

©ORE G

www.marcypro.com
24 P

O©IMPEX INC.



M8 X 3”

4

@ G

5% Allen Wrench(Tool)

WWW.marcypro.com
25 yp

O©IMPEX INC.



48!

eIl

O©IMPEX INC.

26www.marcypro.com




IMPEX® INC.
2801 S. Towne Ave. Pomona, CA 91766
Tel: (800) 999-8899
www.marcypro.com
support@impex-fitness.com

O©IMPEX INC. »7WwWw.marcypro.com



http://www.impex-fitness.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

